CIVIL SERVICES (MAIN)EXAM- 2023

AAITH (wgm-7=1 1)
ECONOMICS (Paper I)

faa<a DETACHABLE

ﬁﬂfﬁﬁW?ﬁﬂq@'

Time Allowed : Three Hours

HferFaT 34 : 250
Maximum Marks : 250

WEA-9 TRt fasw srew
I 37 & gF Frafafea féef = oo amaurigds o |
THH ATE W ¢ o1 o wvet A fawfa € o frdt w e SRt vt wu ¥
Temdl e qi WA o SOt oF © |
W we 1 3R 5 afard § T 9ty #§ ¥ vl @ve @ w9-8-99 O W gHaR dm
WA % IR dfor |
lF WA /W % o o st we an Ru o #
WAl & IR IE wiftga Arewm # for@ o s, frwe sete s sAv-um # e o g,
IR 39 WIEAH & WE Iid Y-we-9w (F.H1.1.) e & yaus R fAfde wm w e
ST =TfeT | Wit Wt F afafers s fadt wieam # o o s W) B S W e |
WA &t wreg #an, et fafafde R, @ seaeo fmn s feu |
71 / faugiaor siet =t 2, W & W @ oW 7 F fog fifie s W @ e wan /e
21
AT & IO I VAT SFHIER B St | 3l s 9 9, @ W & Sut Y TuEr 6 st
=M 78 I Ve foar @ @ | we-we-Sw e § @l Sig e 9B 91 9% dv A w|e
®Y ¥ FHIET ST AT |

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt
of a question shall be counted even if attempted partly. Any page or portion of the page
left blank in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

2.(b)

2.(c)

Tus ‘A’ SECTION ‘A’
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Answer the following questions in about 150 words each : 10x5=50
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Examine the role of price elasticity of demand in determining the price set by a
discriminating monopolist. 10
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e |

Explain the backward bending supply curve of labour as a choice between income
and leisure. 10
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Explain the major differences between classical and Keynesian macroeconomics. 10
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What is meant by internal rate of return in the theory of investment ? What is its
importance in deciding whether to accept investment project ? 10
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Explain why it is considered difficult for open market operations to affect both the
availability and cost of credit at the same time. 10
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Explain the Cournot model of duopoly using reaction functions and interpret it as a
Nash equilibrium. 20
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“Perfect competition is incompatible with increasing returns to scale.” Examine the

statement. 15
HeaTiIER & U Uy Wigw i SATE Sy S e -hiEg 6 et aRa g |
Describe a model of oligopoly that explains price stickiness. 15
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3.(a)

3.(b)

3.(c)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)
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“Under rational expectation hypothesis, systematic monetary policy is ineffective.”
Explain the above statement using a suitable model. 20
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In the IS-LM framework, the effectiveness of monetary and fiscal policies depend
on the interest elasticity of investment. Explain. 15
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How important is speculative demand for money in achieving unemployment
equilibrium in the Keynesian model ? Discuss. 15
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Explain the concept of “sterilization” in the context of monetary approach to balance
of payments. 20
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Tax burden is distributed between buyers and sellers in the ratio of elasticities of
demand and supply. Explain. 15
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Discuss Friedman’s restatement of Quantity Theory of Money. Under what
conditions, it reduces to classical Quantity Theory of Money ? Explain. 15
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Answer the following questions in about 150 words each : 10x5=50
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“Factor intensity reversal is incompatible with Heckscher-Ohlin model.” Examine

this statement. 10
Teret e 1 eagE ohifte w1t aar @ 7 wWEE |
Why depreciation of a currency is inflationary ? Explain. 10
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5.(c)

5.(d)

5.(e)

6.(a)
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Can Kuznet’s hypothesis of an inverted U-curve be extended to analyse
environmental degradation ? Explain. 10
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Explain how modified HDI is an improved measure of development over HDL
10
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How renewable energy use can help attain environmental sustainability ? Explain.
10
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Consider the market for good X for Country 1 and Country 2. The supply and demand

functions for Country 1 are given as P=Q+70 and P=170-Q, while that

of Country2 are given as P=10+Q and P=110-Q. Assume that there are

two countries in the world and trade is balanced. Free trade price is stabilized

in between autarky prices of both the countries. Based on the above information,
answer the following questions :

(i) From the free trade price and zero transportation cost, if the importing
country imposes an import quota of 50 units, determine the quantity of good X
produced and consumed. Calculate the consumer and producer surplus and
protection cost due to import quota.

(ii) From the free trade price, assume that the importing country is small and
consider an import tariff of Rs. 10 per unit on good X. Calculate the impact on
consumer surplus, producer surplus and government revenue. Does this policy
increase national welfare ? 20
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6.(b)

6.(c)

7.(a)

7.(b)

7.(c)

8.(a)
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“A continuous process of innovation and invention would give rise to trade even
between countries with similar factor endowments and tastes.” Examine the
statement. 15
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Examine the significance of external economies and product variety in the context
of international trade theory. 15
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Human capital and components of research and development are determining factors
of economic growth. Explain using appropriate endogenous growth model. 20
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Explain the concept of steady-state in the context of Solow model. 15
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What 1s the golden rule of capital accumulation ? Explain it using a growth model.
15

FIERE 9 R-AdAIgviE GaEEl & faeeT ¥ Saw wm, 38 e 99R
(TA.31.41.) T@ wafEm-aamEita 3aamg (3.809.) # % = F T feramn wecgpd
2 7 afe s raen # Seaw AT GETEE B 991 Adegaen sAftean-aRuig
Iaared % forg W wgw |, @ ot T g fadig W g 2

How important is rent from extraction of renewable and non-renewable resources
to distinguish between Net Domestic Product (NDP) and Environmentally adjusted
Domestic Product (EDP). Will the distinction be valid if we have an economy
with only renewable resources and the economy reaches the point of maximum
sustainable yield ? 20
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“Balanced and unbalanced growth strategies are not substitutes but complementary
to each other.” Discuss. 15
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“Income inequality is not a cause of concern as long as per capita income is rising.”
Critically examine this statement. 15
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